Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Filomat **25:1** (2011), 69-79 DOI: 10.2298/FIL1101069B

# ON THE SOLUTION OF STEINHAUS FUNCTIONAL EQUATION USING WEAKLY PICARD OPERATORS

#### Vasile Berinde

#### Abstract

In this paper we obtain existence results regarding the solutions g of a Steinhaus type functional equation of the form g(x) + g(f(x)) = F(x), under the significantly weaker assumption that f is a weakly Picard operator. The solutions are given in terms of sums of either convergent series or divergent series but summable by some method of summability.

# 1 Introduction

Let (X, d) be a metric space, Y a real Banach space and let us consider the functional equation

$$g(x) + g(f(x)) = F(x), x \in X,$$
 (1)

where  $f: X \to X, F: X \to Y$  are given mappings, while  $g: X \to Y$  is the unknown mapping.

In the particular case when f, F and g are functions of a single variable x (real or complex), functional equations of the form (1) have been studied by several authors, see [1], [10], [11], [13], [15], [16], [20], [26] and references therein.

More precisely, Steinhaus [26] studied the equation  $g(x) + g(x^2) = x$ , while Hardy [11] considered the equation  $g(x) + g(x^{\alpha}) = x$  where  $\alpha > 0$ . Kuczma [13] extended further Hardy and Steinhaus results and obtained the solutions of the equation g(x) + g(f(x)) = F(x) in the form of sums of certain convergent series. All these results were obtained in the case x is a real variable. On the other hand, Racliş [20] studied the same equation g(x) + g(f(x)) = F(x) but in the case x is complex and found meromorphic solutions.

Later, Bajraktarević [1] extended the results of Kuczma [13], by obtaining solutions of the equation (1) in the case when the series of functions given by Kuczma is divergent but summable by some regular method of summability. Malenica [15]

<sup>2010</sup> Mathematics Subject Classifications. 39B52; 47H10; 54H25; 40J05.

Key words and Phrases. functional equation; weakly Picard operator; series; summability. Received: Required

Communicated by ?

extended further Bajraktarević's results. A more general form of the equation (1), that is,

$$g(x) + A(x)g(f(x)) = F(x),$$
 (2)

was solved by Gercevanoff in [9], while Ghermänescu [10] solved the (n + 1)-term functional equation

$$A_0g(x) + A_1g(f(x)) + A_2g(f^2(x)) + \dots + A_ng(f^n(x)) = F(x),$$
(3)

where, as usually,  $f^n(x)$  stands for the *n*-th iterate of f, defined by  $f^0(x) = x$  and  $f^n(x) = f(f^{n-1}(x)), n \ge 1$ .

For the equation (2), some results regarding its solutions, in the case when F satisfies some special conditions, were obtained by Malenica, see [16] and references therein.

In the papers [1], [15], x is considered a real variable and the function is like in the next Example.

**Example 1.** Let  $f : [a,b] \rightarrow [a,b]$  satisfy the following conditions: a) f is a continuous and strictly increasing, and

b) f(a) = a, f(b) = b and f(x) > x, for all  $x \in (a, b)$ .

Then, for all  $x \in (a, b]$ , the sequence of iterates of f,  $\{f^n(x)\}_{n \ge 0}$ , converges to b, that is,

$$\lim_{n \to \infty} f^n(x) = b. \tag{4}$$

By observing that property (4) is characteristic to the so called *Picard operators*, introduced by Rus in 1984, see for example [21], [24], the author in [2] solved the equation (1) in the general case when X is an arbitrary metric space, Y is a real Banach space and f is a Picard operator on X.

Starting from the fact that f in Example 1, considered on the entire interval [a, b], is actually a weakly Picard operator and not a Picard operator, the main aim of this paper is to show that we can solve the functional equations (1)-(3) under more general conditions, i.e., by considering that f is a weakly Picard mapping and by using series of functions which are convergent or divergent but summable by some regular methods of summability. Our results thus obtained extend, improve, generalize and unify many results in literature regarding this topic: [1], [2], [11], [13], [15] and [26].

The paper is organized as follows: in Section 2 we introduce the basic notions and results regarding Picard operators and weakly Picard operators and also illustrate them by some relevant examples; then, in Section 3 we present some definitions and results related to series and summability in Banach spaces, while, in the last section, we state and prove our main result in this paper, an existence theorem for the Steinhaus functional equation. On the solution of Steinhaus functional equation

### 2 Picard operators and Weakly Picard operators

For the theory of Picard operators and weakly Picard operators we basically refer to Rus [24].

**Definition 1.** (I.A. Rus, [24]). Let (X, d) be a metric space. An operator  $f : X \to X$  is called a Picard operator (briefly PO) if: (i) Fix  $(f) := \{x \in X : f(x) = x\} = \{x^*\},$ (ii)  $\{f^n(x)\}_{n \ge 0}$  converges to  $x^*$  as  $n \to \infty$ , for all  $x \in X$ .

The term of (weakly) *Picard operator*, adopted by I.A. Rus in [24] and in subsequent papers, is motivated by the fact that Émile Picard has been the first mathematician who, based probably on ideas of Cauchy and Liouville, developed systematically the method of successive approximations in a series of papers on the existence of solutions of initial value problems for ordinary differential equations, see [19] (and also [4], for some bibliographical and historical comments).

In terms of the Picard operators theory, several fundamental results in metrical fixed point theory can be restated in a simplified form (see [21] and [24] for more details), as shown by the next example.

**Example 2.** (Contraction Mapping Principle). Let (X, d) be a complete metric space and let  $f : X \to X$  be an a-contraction, i.e., a mapping for which there exists a constant  $a \in [0, 1)$  such that

$$d(f(x), f(y)) \le ad(x, y), \forall x, y \in X.$$

Then f is a PO.

**Definition 2.** Let (X, d) be a metric space. A map  $f : X \to X$  is called a weakly Picard operator (briefly WPO) if the sequence  $\{f^n(x)\}_{n\geq 0}$  converges for all  $x \in X$  and the limit (which may depend on x) is a fixed point of f.

It is obvious that any PO is a WPO, but the reverse in not true, as shown by Examples 5 and 6.

**Example 3.** ([3]) Let (X, d) be a complete metric space and let  $f : X \to X$  be an almost contraction, that is, a mapping for which there exist the constants  $a \in [0, 1)$  and  $L \ge 0$  such that

$$d(f(x), f(y)) \le ad(x, y) + Ld(y, f(x)), \forall x, y \in X.$$

Then f is a WPO.

For other results and applications of PO and WPO see [3], [4]-[6], [8], [18] and [21]-[25].

The next examples illustrate how general the concepts of PO and WPO are in comparison to the functions f used in [1] and [15] to solve functional equations, where the functions f is assumed to satisfy the two very sharp conditions a) and b) in Example 1.

**Example 4.** Let X = [0,1] be endowed with the usual norm and let  $f : [0,1] \rightarrow [0,1]$  be defined by  $f(x) = \frac{2}{5}$ , if  $x \in \left[0, \frac{2}{3}\right)$  and  $f(x) = \frac{1}{5}$ , if  $x \in \left[\frac{2}{3}, 1\right]$ . Then f is a discontinuous almost contraction that does not satisfy neither assumption a) nor b) in Example 1 but which has a unique fixed point, that is,  $Fix(f) = \left\{\frac{2}{5}\right\}$ . It is a PO, see [17].

**Example 5.** Let [0,1] be the unit interval with the usual norm and let  $f:[0,1] \rightarrow [0,1]$  be given by  $f(x) = \frac{1}{2}$  for  $x \in [0,2/3)$  and f(x) = 1, for  $x \in [2/3,1]$ . Then f is a discontinuous almost contraction that does not satisfy neither a) nor b) in Example 1 but which has two fixed points, that is,  $Fix(f) = \left\{\frac{1}{2}, 1\right\}$ . It is a WPO, see [17].

**Example 6.** Let [0,1] be the unit interval with the usual norm and let  $f : [0,1] \rightarrow [0,1]$  be the identity map, i.e., f(x) = x, for all  $x \in [0,1]$ . Then f is a continuous almost contraction that does not satisfy b) in Example 1 and the set of fixed points of f is the entire interval [0,1], i.e., Fix(f) = [0,1]. It is a WPO, see [3].

The following lemma, which is important by itself, expresses a natural property of PO and WPO and which, in the particular case of almost contractions, has been obtained in a previous paper [7].

**Lemma 1.** Let  $f : X \to X$  be a WPO operator and let  $b \in Fix(f)$  be a fixed point of f. Then f is continuous at b.

#### **3** Sequences and series in Banach spaces

In this section we recall some known definitions and properties concerning sequences in metric spaces and series in a real Banach space. For the sake of completeness, we also introduce some concepts and results regarding the summability of divergent series in the setting of a Banach space, similar to the well known ones in the case of numerical series [12], see also [2].

In what follows, without any other special mention, (X, d) will be a (complete) metric space, while Y will denote an arbitrary real Banach space. The convergence of series in Y is understood in norm.

**Definition 3.** Let  $\sum_{n=0}^{\infty} x_n$  be a series in Y whose sequence of partial sums is denoted by  $\{S_n\}_{n\geq 0}$ . Consider also the sequence  $\{S_n^{(k)}\}_{k\geq 0}$ , defined by  $S_n^{(0)} = S_n$  and, for  $k \geq 1$ , by  $S_n^{(k)} = S_0^{(k-1)} + S_1^{(k-1)} + \ldots + S_n^{(k-1)}$ ,  $(n = 0, 1, 2, \ldots)$ . If, for some k, the sequence  $\{C_n^k\}_{n\geq 0}$ , given by

$$C_n^k = \frac{1}{\binom{n+k}{k}} S_n^k, \ n \ge 0,$$

converges to S, then we shall say that the series  $\sum_{n=0}^{\infty} x_n$  is Césaro-summable or  $C_0$ -summable with the sum S. (Here  $\binom{n+k}{k}$  stands for the binomial coefficient.)

**Definition 4.** Let  $\{S_n\}_{k\geq 0}$  be the sequence of partial sums of the series  $\sum_{n=0}^{\infty} x_n$  in Y. Consider  $T = (a_{kn})$  an infinite matrix of real numbers and let us construct the following family of series

$$\sum_{n=0}^{\infty} a_{kn} S_n, \ (k=0,1,2,\ldots),$$
(5)

which are assumed to be convergent with the sums  $\widehat{S}_k$ ,  $k = 0, 1, 2, \ldots$ , respectively. If the sequence  $\left\{\widehat{S}_k\right\}_{k\geq 0}$  converges to  $\widehat{S}$ , then we say that the series  $\sum_{n=0}^{\infty} x_n$  is Toeplitz-summable or T-summable with the sum  $\widehat{S}$ .

**Definition 5.** A series  $\sum_{n=0}^{\infty} x_n$  in Y is said to be summable by Abel's method of summability or A-summable, with the sum S, if the series  $\sum_{n=0}^{\infty} t^n x_n$  converges for all  $t \in [-r, r], r \ge 1$ , and there exists the limit

$$\lim_{t \to 1-0} \left( \sum_{n=0}^{\infty} t^n \, x_n \right) = S.$$

We end this section by stating two results from [12], pag. 404-405, adapted to Banach spaces, like in [2]. Their proofs are completely similar to the case of the real line and are not given here.

**Theorem 1.** Let  $\{z_n\}_{n\geq 0}$  be a sequence in Y such that  $\lim_{n\to\infty} z_n = 0 \in Y$ . If  $T = (a_{kn})$  is an infinite regular matrix whose entries satisfy:

 $t_1$ ) For each  $n \ge 0$ ,  $a_{kn} \to 0$  as  $k \to \infty$ ;

 $t_2$ ) There exists a constant C such that

 $|a_{k0}| + |a_{k1}| + \dots + |a_{kn}| < C, \ (k \ge 0, \ n \ge 0),$ 

then the series  $\sum_{n=0}^{\infty} a_{kn} z_n$  converges for all  $k \ge 0$ .

Vasile Berinde

Moreover, the sequence  $\{\widehat{z}_n\}_{n\geq 0}$  defined by

$$\widehat{z}_n = \sum_{n=0}^{\infty} a_{kn} \, z_n, \, k = 0, 1, 2, \dots,$$
(6)

converges in Y and  $\lim_{n \to \infty} \hat{z}_n = 0.$ 

**Theorem 2.** If  $T = (a_{kn})$  is an infinite regular matrix whose entries satisfy conditions  $t_1$ ,  $t_2$  from Theorem 1 and the following additional condition

 $\begin{array}{l} t_3) \lim_{k \to \infty} \left( \sum_{n=0}^{\infty} a_{kn} \right) = 1, \\ then, \ for \ any \ sequence \ \{\widehat{z}_n\}_{n \ge 0} \ convergent \ to \ some \ z \in Y, \ as \ n \to \infty, \ the \ sequence \ \{\widehat{z}_n\}_{n \ge 0} \ given \ by \ (6) \ converges \ and \ \lim_{k \to \infty} \widehat{z}_k = z. \end{array}$ 

#### Solutions of the functional equation 4

Now having at disposal all necessary prerequisites, we can go back to the solution of the functional equation (1).

Let  $f: X \to X$  be a WPO and let  $x \in X$  be arbitrary. By definition, there exists  $b \in Fix(f)$ , such that

$$\lim_{n \to \infty} f^n(x) = b.$$

Similarly to the related papers [1], [2], [13] and [15], we consider the following series

$$\frac{1}{2}F(b) + \sum_{n=0}^{\infty} (-1)^n \left[ F\left(f^n(x)\right) - F(b) \right],\tag{7}$$

in order to obtain sufficient conditions for the existence of a solution of the functional equation (1), by using either the convergence of the series (7) or its summability in some sense.

The main result reads as follows.

**Theorem 3.** Let (X, d) be a complete metric space, Y an arbitrary real Banach space,  $f: X \to X$  a given WPO and  $F: X \to Y$  a given mapping which is continuous at b, for each  $b \in Fix(f)$ . Then the following are true:

- (1) If the series (7) converges on X, then its sum, g, is a solution of the functional equation (1). Moreover, if f and F are continuous and the series (7) is uniformly convergent on X, then q is continuous on X;
- (2) If the series (7) is T-summable with the sum g, where  $T = (a_{kn})$  is a regular matrix transformation such that its entries  $a_{kn} \in \mathbb{R}$  do satisfy conditions  $t_1$ ) $t_3$ ), then g is a solution of the functional equation (1);
- (3) If the series (7) is  $C_0$ -summable with the sum g, then its sum is a solution of the functional equation (1);

(4) If the series (7) is A-summable with the sum g, then its sum is a solution of the functional equation (1).

Proof. (1)

By hypothesis we have

$$g(x) = \lim_{n \to \infty} \left[ \frac{1}{2} F(b) + \sum_{i=0}^{n} (-1)^{i} \left[ F\left(f^{i}(x)\right) - F(b) \right], \right]$$

and

$$g(f(x)) = \lim_{n \to \infty} \left[ \frac{1}{2} F(b) + \sum_{i=0}^{n} (-1)^{i} \left[ F\left(f^{i+1}(x)\right) - F(b) \right] \right],$$

from which, by straightforward calculations, we get

$$g(x) + g(f(x)) = F(x),$$

that is g(x) is a solution of the functional equation (1).

#### (2)

Denote by  $\{S_n\}_{n\geq 0}$  the sequence of partial sums of the series (7), i.e.,

$$S_n(x) = \frac{1}{2}F(b) + \sum_{i=0}^n (-1)^i \left[ F\left(f^i(x)\right) - F(b) \right], \ n = 0, 1, 2, \dots$$

and also denote

$$\widehat{S}_k(x) = \sum_{i=0}^n a_{kn} S_n(x), \ k = 0, 1, 2, \dots$$

By the T-summability property of the series (7) we have that

$$g(x) = \lim_{n \to \infty} \widehat{S}_n(x).$$

On the other hand, we have

$$S_n(f(x)) = F(x) - S_n(x) + (-1)^n \left[ F\left(f^{n+1}(x)\right) - F(b) \right], \ n = 0, 1, 2, \dots$$

and consequently

$$\widehat{S}_k(f(x)) = \sum_{n=0}^{\infty} a_{kn} F(x) - \widehat{S}_k(x) - \sum_{n=0}^{\infty} (-1)^{n+1} a_{kn} \left[ F\left(f^{n+1}(x)\right) - F(b) \right], \quad (8)$$

for all k = 0, 1, 2, ...

Now, by assumptions  $t_1$ ) –  $t_3$ ) and continuity of F at b, we conclude that

$$\lim_{n \to \infty} (-1)^{n+1} \left[ F\left( f^{n+1}(x) \right) - F(b) \right] = 0,$$

Vasile Berinde

and hence, by Theorem 1, we get

$$\lim_{k \to \infty} \left( \sum_{n=0}^{\infty} (-1)^{n+1} \left[ F\left( f^{n+1}(x) \right) - F(b) \right] \right) = 0.$$

By Theorem 2 we also have

$$\lim_{k \to \infty} \left( \sum_{n=0}^{\infty} a_{kn} F(x) \right) = F(x), \forall x \in X,$$

which actually shows, by letting  $n \to \infty$  in (8), that

$$g(f(x)) = F(x) - g(x),$$

which shows that g(x) is a solution of the functional equation (1). Since g is uniquely determined by the way it was constructed, it is the unique solution of the functional equation (1).

(3)

The proof is similar to that of the third part of Theorem 1 in [1] and so, we'll omit here the unnecessary details. Using the same notations as in the previous case, by elementary calculations we found out that

$$C_{n}^{k}(x) = \frac{n}{n+k}C_{n-1}^{k}(x) + \frac{1}{\binom{n+k}{k}}S_{n}^{k-1}(x),$$

and so

$$C_n^k(x) + C_n^k(f(x)) = F(x) - \frac{n}{2(n+k)}F(b) + \frac{1}{\binom{n+k}{k}}S_n^{k-1}(f(x)).$$
(9)

Now, in view of the  $C_0$ -summability of the series (7), by letting  $n \to \infty$  in (9) and using the hypothesis, that is, that

$$\lim_{n \to \infty} C_n^k(x) = g(x),$$

we finally obtain

$$g(x) + g(f(x)) = F(x),$$

that is, g(x) is a solution of the functional equation (1).

(4)

This follows similarly to the proof of Theorem 1, d) in [1].  $\Box$ 

**Remark 1.** In the particular case when f is a Picard operator, by Theorem 3 we obtain as a corollary, Theorem 4 in [2].

On the solution of Steinhaus functional equation

**Remark 2.** As shown by the case (1) of Theorem 3, it is possible to ensure the continuity of the solution of the functional equation but under rather strong assumptions. If, for example, f and F are not both continuous, then g needs not be continuous, as shown by the next two examples.

**Example 7.** Let [0,1] be the unit interval with the usual norm and let  $f, F:[0,1] \rightarrow [0,1]$  be defined by  $f(x) = \frac{x}{2}$ , for all  $x \in [0,1)$  and  $f(1) = \frac{1}{3}$ ;  $F(x) = \frac{x}{2}$ , for all  $x \in [0,1]$  and  $F(1) = \frac{1}{3}$ , respectively. It is easy to check that f is a Picard operator,  $f^n(x) = \frac{x}{2^n}$ , for all  $x \in [0,1)$  and  $f^n(1) = \frac{1}{3 \cdot 2^{n-1}}$ , for all  $n \ge 1$  and therefore:  $\lim_{n \to \infty} f^n(x) = 0, \forall x \in [0,1].$ 

Hence b = 0 and, in view of the fact that F(0) = 0, the series (7),

$$\frac{1}{2}F(b) + \sum_{n=0}^{\infty} (-1)^n \left[ F\left(f^n(x)\right) - F(b) \right],$$

becomes

$$\sum_{n=0}^{\infty} (-1)^n F\left(f^n(x)\right),\,$$

which is convergent, for all  $x \in [0,1]$ , and its sum could be easily evaluated by using the well known formula

$$1 - x + x^{2} - x^{3} + \ldots + (-1)^{n} x^{n} + \cdots = \frac{1}{1 + x}, x \in (-1, 1).$$

Theorem 3 (1) applies and the unique (discontinuous) solution of the functional equation is given by  $g(x) = \frac{x}{3}$ , for  $x \in [0,1)$  and  $g(1) = \frac{2}{9}$ .

**Example 8.** Let [0,1] be the unit interval with the usual norm and let  $f, F : [0,1] \rightarrow [0,1]$  be defined by  $f(x) = \frac{x}{2}$ , for all  $x \in [0,1]$ , and by F(0) = 0, for all  $x \in [0,1)$  and  $F(1) = \frac{1}{3}$ , respectively. Here, the series (7) converges for  $x \in [0,1)$ , so g(x) = 0, for all  $x \in [0,1)$  but does not converge for x = 1. Instead, for x = 1 the series (7) is A-summable and its sum is  $g(1) = \frac{1}{2}$ . We thus obtain, by Theorem 3 (4), that g is the unique (discontinuous) solution of the functional equation g(x) + g(f(x)) = F(x), which can also be checked directly.

**Remark 3.** All results obtained in this section are given for the Steinhaus type functional equation (1), but similar considerations could be done for the more general case of the functional equations (2) and (2). These will be treated in a forthcoming paper.

### Acknowledgements

The author thanks Professor Vincent Soltes and Dr. Stefan Berezny from Technical University of Košice, Slovakia, where he was a visitor during the writing of this paper, in the framework of the CEEPUS network CII-HU-0028-00-0910, coordinated by University of Miskolc, Hungary. The research was also partially supported by the Grant NIMIC 2202 of the Ministry of Education and Research.

# References

- [1] M. Bajraktarević, Sur une solution de l'équation fonctionelle  $\varphi(x) + \varphi(f(x)) = F(x)$ , Glasnik Mat-fiz. i Astr., Zagreb, 15 (1960), 91–98
- [2] V. Berinde, On the solutions of a functional equation using Picard mappings, Stud. Univ. Babeş-Bolyai Math. 35 (1990), no. 4, 63-69
- [3] V. Berinde, Approximating fixed points of weak contractions using Picard iteration, Nonlinear Analysis Forum 9 (2004), No. 1, 43-53
- [4] V. Berinde, Iterative Approximation of Fixed Points, 2nd Ed., Springer Verlag, Berlin Heidelberg New York, 2007
- [5] V. Berinde, Approximating common fixed points of noncommuting discontinuous weakly contractive mappings in metric spaces, Carpathian J. Math. 25 (2009), no. 1, 13–22
- [6] V. Berinde, Some remarks on a fixed point theorem for Cirić-type almost contractions, Carpathian J. Math. 25 (2009), no. 2, 157–162
- [7] V. Berinde and Păcurar, M., Fixed points and continuity of almost contractions, Fixed Point Theory, 9 (2008), No. 1 23-34
- [8] Maria Dobriţoiu and M. A. Şerban, A system of integral equations arising from infectious diseases, via Picard operators, Carpathian J. Math. 26 (2010), no. 2, 170–183
- [9] N.M. Gersevanov, Quelques procédés de la résolution des équations fonctionnelles linéaires par la méthode d'itération, C. R. (Dokl.) Acad. Sci. URSS, n. Ser. 39 (1943), 207–209
- [10] M. Ghermănescu, Équations fonctionelles linéaires à l'argument fonctionelle n-périodique, C. R. Acad. Sci., Paris 243, 243 (1956), 1593-1595
- [11] G.H. Hardy, Divergent Series, Clarendon Press, Oxford, 1949
- [12] K. Knopp, Theorie und Anwendung der Unendlichen Reihen, Springer Verlag, 1964

On the solution of Steinhaus functional equation

- [13] M. Kuczma, On the functional equation  $\varphi(x) + \varphi(f(x)) = F(x)$ , Ann. Polon. Math., 6 (1959), 281–287
- [14] M. Kuczma, Functional equations in a single variable. (Monografie matematyczne. Tom. 46.), PWN - Polish Scientific Publishers, Warszawa, 1968
- [15] M. Malenica, On the solutions of the functional equation  $\varphi(x) + \varphi(f(x)) = F(x)$ , Glasnik Mat., 38 (1983), 305–315
- [16] M. Malenica On the solutions of the functional equation x(t) + A(t)x(f(t)) = F(t) when the function F satisfies some special conditions, Mat. Vesn. 45 (1993), No. 1-4, 1-5
- [17] M. Păcurar, Iterative Methods for Fixed Point Approximation, PhD Thesis, "Babeş-Bolyai" University, Cluj-Napoca, 2009
- [18] M. Păcurar, A multi-step iterative method for approximating fixed points of Prešić-Kannan operators, Acta Math. Univ. Comenian. (N.S.) 79 (2010), no. 1, 77–88
- [19] E. Picard, Memoire sur la theorie des equations aux derivees partielles et la methode des approximations successives, J. Math. Pures et Appl., 6 (1890), 145-210
- [20] N. R. Racliş, Sur la solution méromorphe d'une équation fonctionelle, Bull. Math. Soc. Roum. de Sc., 30 (1927), 101-105; 31 (1928), p. 90
- [21] I.A. Rus, Picard mappings. Results and problems, Stud. Univ. Babeş-Bolyai Math., 33 (1988) 70-73
- [22] I.A. Rus, Weakly Picard mappings, Comment. Math. Univ. Carol. 34 (1993), No. 4, 769-773
- [23] I.A. Rus, Weakly Picard operators and applications, Semin. Fixed Point Theory Cluj-Napcoa, 2 (2001), 41–58
- [24] I.A. Rus, Picard operators and applications, Sci. Math. Jpn. 58 (2003), no. 1, 191–219
- [25] I.A. Rus, Some nonlinear functional differential and integral equations, via weakly Picard operator theory: a survey, Carpathian J. Math. 26 (2010), no. 2, 230–258
- [26] H. Steinhaus, On a certain power series (in Polish), Pr. Mat. 1 (1955), 276–284.

Department of Mathematics and Computer Science Faculty of Sciences Northern University of Baia Mare Victoriei 76, 430122 Baia Mare ROMANIA *E-mail*: vberinde@ubm.ro